R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-955 Opaque Therma-Tru FG door OXO (LK, DB) (4755-4756)\C - Drawings\TX-4755.56.dwg, TX-4755

POWERED Bvlﬁ

ENDURA

DOOR COMPONENTS MADE IN THE USA

Opaque Fiberglass
Single Door w/ Sidelites

CONTINUOUS HEAD & SILL FRAME SYSTEM

INSWING / OUTSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 international
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building
Code (IBC}, Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject fo the
following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required fo be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal fo or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4, Conditions not covered by this drawing are subject to further engineering
analysis. ' ‘ ’

TABLE OF CONTENTS

SHEET # | DESCRIPTION
1 Typical elevations, design pressures & general notes
Door panel details
Slidelte panel details
Horizontal cross sections
Vertical cross sections
Vertical cross sections
Frame anchoring

Nios|nisa Wi

69" MAX. OVERALL
FRAME WIDTH

82" MAX. OVERALL
FRAME HEIGHT {INSWING)

81.125" MAX. OVERALL
FRAME HEIGHT (QUTSWING)

Lyndon F. Schmidt, P.E,
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.O. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F—-11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

OS,

INSWING

+75.0

+50.0

-50.0

OUTSWING

+65.0

-65.0

+50.0

-50.0

SEE SHEET 6 FOR THRESHOLD DESIGN PRESSURE LIMITATIONS

[%2]
=
8o
n<
&
=
3y
<
g ]
> X <©
=R [+ e
g ={ M
o]
ol .0
<
P o SR
=0
g S
a — gy
o} rl X
© < o
a. a.
e
4
L
o
o
&0
O
Sle
R
Siol n
R z
o|®] O
5| 2
ol B
el
Sl
ol
SR
N
<
(=]
> |
N IS
1 lo
z
OATE: 12/04/17
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4755

SHEET 1 oF 7




Ri\Clients\Endura PERMANENT\B - Texas Dept of ins\TDI - DR-955 Opaque Therma-Tru FG door OXO (LK, DB) (4755-4756)\C - Drawings\TX-4755.56.dwg, 2.3

— iy

0.46" ——| |=—

EXTERIOR

//‘
CAP HINGE STILE
(PVC)  (LAMINATED WOOD)
\2/
36" DOOR
WIDTH
>

&P

43.69"

|~
e
e -
O in
il [¥9]
xI
3 )
=z
< &
% o}
<C
z X }
2 SEE HARDWARE
TABLE

‘ DOOR PANEL
Therma-Tru Fiberglass

DOOR SKIN: FIBERGLASS ({0.075" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM

7“1\ HORIZONTAL CROSS SECTION

INTERIOR

1.88"

LOCK BLOCK
(12.5' LONG)

(LAMINATED WOOD)

KWIKSET

KNOB:

SIGNATURE SERIES
DEADBOLT:  SIGNATURE SERIES (980)

7“2\ VERTICAL CROSS SECTION

\2/

LSy,
1.19" Serint 0l
—— 0.46" LT % LN
' Ay L
A QO
: ;i
CAP >
\ (PVC]) M
LATCH STILE
(LAMINATED WOOD)
.
S f \ TOP RAIL
e ‘~ (COMP.)
FOAM CORE ||
EXTERIOR INTERIOR
Il::
FIBERGLASS SKIN 7 ;
,‘i &
/ R g
BOTTOM RAIL
(COMP.) f

ui
oy
P »
Lo o
Ex &
S
Nl Om ]
e 27, 2
L .do
53 E.a 3
85 283 2
§F L0 =
3 Jdge @
25>m U
%o'.&-'
onwg
& O oo
o x2
° o L.
e %m,o
o [
a =50 2
P Bod %
; g
:
[~
® e:
E g
3
Q
o
o

CERTIFICATE OF REGISTRATION # F—11852

93]
=~
X<
f oy
Wiy
< S
o .. —JO
2 5 W=
a 2 =Z2
z = <N
Ll gl g
a x©
= N SR
O
8 (@]
o &
o <C
o .
o[>
e R [A)
Lt
[a)
(o]
310
O
3l
£(o]
S| |n
R =
o|® O
58] |2
Eo| B
512 &
b
S
Lig
£
815
<t
(s>
> |
NS
| lo
z
DATE: 12/04/17
scae: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4755

SHEET 2 oOF 7

@ 2016 R.W. BUILDING DONSLULTANTE INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-955 Opaque Therma-Tru FG door OXO (LK, DB) (4755-4756\C - Drawings\TX-4755.56.dwg, 3.3

= " EXTERIOR

0.66"

!

]

STLECAP  HINGESTILE
(WOOD) (LAMINATED WOOD) INTERIOR

@ HORIZONTAL CROSS SECTION
3

14" MAX.
PANEL WIDTH

6"MAX.D.L.O.

AN

o 11/16" GLASS THK.

/ 1/8" TEMPERED
AIR SPACE

\ 1/8" TEMPERED

BACKBEDDING STAINLESS STEEL SPACER
SEALANT

GLASS BITE9/16" —-—l

P

79.25" MAX. PANEL HEIGHT
63" MAX. D.L.O.

G1 GLAZING DETAIL
Flush Glazed

VA

&
SIDELITE PANEL
Therma-Tru Fiberglass

SIDELITE SKIN: FIBERGLASS (0.075" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM

TOP RAIL
(COMP))

FOAM CORE —1 /?1

INTERIOR EXTERIOR

/.
L7
FIBERGLASS SKIN : L

]n

e

BOTTOM RAIL
(COMP.)

7“2\ VERTICAL CROSS SECTION

Lyndon F. Schmidt, P.E,
_ TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
813.659.8197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By:

Phone No.:

CERTIFICATE OF REGISTRATION # F-—11852

-~~~
)
o=
TN
=
=3
QD
b
& ., W
> > Zld
o A <V
& |3 o=
v
B 5E
. < @3
b xi O
S S| 55
[ N
IS E
o <€
(s} Q.
0l >
Ll |

UPDATE TO 2018 IBC/IRC CODE

11/19/19|ADD “FusionFrame” OPTION &

1

REVISIONS

DATE: 12/04//1

i
<
S
o
Z
7

SCALE:  N.T.S.

DWG. BY: JK

\3/

CHK. BY: LFS

DRAWING NO.:
TX—-4755

SHEET 3 oF 7/

© 2016 R.W. BUILDING CONSULTANTS ING.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-955 Opaque Therma-Tru FG door OXO (LK, DB) (4755-4756\\C - Drawings\TX-4755.56.dwg, 4.3

1 de
Es g us
b b du g8 87
/ /4 5 g @ é*
v Vi 9 8o Z
, 7 € Scw O g
3 = 3 © u
g2 iE
10 BACK-TO-BACK JAMBS: . 88% gb
—— " "FusionFrame” {1 OR 2-PIECE) o g ou
N FusionFrame - O %XZ 4
\6/ - rg\ /i\ MULLION £ g e o6
( 3) INTERIOR #10X 2-1/2" PFH 2 oL
o) 7 a\|le _|o % % e WOODSCREW | & g§
X\ 4/ 0 #8 X 2-1/2" FH COURSE ) () | ENDURA WEATHERSTRIP (SEENOTE 2) g
/ 4\ THREAD DRYWALL SCREW O)| | (QEBD/PE 650) 3
\ 4 / (SEENOTE 1) DOOR PANEL  ENDURA WEATHERSTRIP SIDELITE PANEL
; (QEBD/PE 650) /
: ‘ 5 o (f)
y ; J .. il X5 oz
/ 7 - A ¥ ) ; / <( E B
R o 7 s 9% &3
/ . . N
> > q q \ z g % 4%
" SIDELITE PANEL 48X 2172 PFH i OX 3" PFH 8% T&
(8N 3N 1V 2 4 #8X 1" PFH SMS 4 WOODSCREW | ™o
CORNER PADS ; DOOR PANEL LATCH WOOD SCREW  (seeNOTE T} |2 S
6/ 8/ 8 A8/ #8 X 2-1/2" PFH WOOD SCREW 2 ©
(TYP. EXTERIOR STRIKE PLATE S iz
&gv?;gv% #8 X 3/4" PFH SMS 4" HINGE e > -
(XO/OX SIMILAR) /3" HORIZONTAL CROSS SECTION (4™ HORIZONTAL CROSS SECTION 2 &
W Outswing shown - Inswing also approved W Qutswing shown - Inswing also approved -
(=)
o]
tf O
<-——]_5"——> “_‘].5 - .\ :Q
4-3/8" FATBOY 4-3/8' FATBOY 2|2
) WOOD ) PINE MULLION PINE MULLION £l
N ™ INTERIOR L SE |2
\ R #8 X 2-1/2" FHl COURSE o2 ©
COMPOSITE #8 X 2-1/2" FH COURSE ENDURA WEATHERSTRIP THREAD DRYWALL SCREW g8 =
\ . THREAD DRYWALL SCREW (QEBD/PE 650) % (SEENOTE 1) SR |x
= [Te) =
3 . 55 SEENOTET] N DOOR PANEL ENDL(’S’;BVS’fF'fg t:gg)smw 4 / /SlDELlTE PANEL 3
~ ™ <~ i , . /) ' Flo
, Sl 1 ! Jl - et / \ | ' i
[:] % ey ;
] . i N N N
EINS|= g T i e N S 2 &
O D N R S
{ ) N Q 2 0
VA
2y 2% SIDELITE PANEL Ex 1" PEH SMsS / #8 X 2-1/2" PFH WOOD SCREW owte: 12/04/17
FATBOY MULLION MULLION #8 X 2-1/2" PFH WOOD SCREW DOOR PANEL LATCH SCALE: N.Tj(.
P DWG. BY:
PINE Fusionframe #8 X 3/4" PFH SMS 4" HINGE EXTERIOR STRIKE PLATE T —
NOTES: DRAWING NO.:
1. Spacing for sidelite screws: 6.5", 38.5" and 69" from head to sil (3 total). /10 HORIZONTAL CROSS SECTION /i\ gggﬁo‘:&ev‘;\ gﬁggf ScJElsSgo’goved TX—4755
2. Spacing for mullion screws: &' from each end plus 3 more equally spaced (5 fotal). W Outswing shown - Inswing also approved \/ 9 9 PP seer 4 o 7

© 2016 R.W. BUILDING CONSULTANTS ING.




RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD!.- DR-955 Opaque Therma-Tru FG door OXO (LK, DB) (4755-4756)\C - Drawings\TX-4755.56.dwg, 5.3

2X FRAMING ui
2X FRAMING ZX FRAMING (G >=0.42) o
/ (G >=0.42) (G>=042) — ] 88, B«
— ] T RN £+ g B8
N ] fill G ‘B ZC
(110 TS 1 i EXT. SHEATHING /|4 o270, 2d
EXT. SHEATHING k/1 |/ e DRYWALL s MY EXT. SHEATHING / ‘ \ =§ g "“'5 >
i T o i \ ‘ | DRYWALL 8 283 33
i s DRYWALL 1 57 Hié gk
1 - W f B3>0
i X pou {8
/ o o e ’ 3 g o S0
| #10x2-1/2' PRH { #10X2-1/2"PFH , & oc: ES
o WOOD SCREW L3 WOOD SCREW 1el] 3 23% u.
1/4" MAX. i 1 | g 9,85 g°
SHIM SPACE 1/4" MAX. I 1 —— I #10X 3" PFH £ =ot 2k
e SHIM SPACE \ i . M / WOOD SCREW 9 § oE
2z D Z g | £ E
SHE SHE 1/4'MAX. | / g @§ §‘6‘
2 3
DOOR PANEL \\ * SIDELITE PANEL ~ \ ? DOOR PANEL
o N HEAD: "FusionFrame" (1-PIECE) %)
HEAD: PINE ; HEAD: PINE 2
#8 X 2-1/2" FH COURSE ENDURA WEATHERSTRIP 5
ENDURA WEATHERSTRIP  THREAD DRYWALL SCREW (QEBD/PE 650) 7
(QEBD/PE 650) (SEENOTE 1) g 0
/4 EXTERIOR N INTERIOR 3 3¢
EXTERIOR N INTERIOR INTERIOR EXTERIOR NOTE: 5 |95
/ 1"\ VERTICAL CROSS SECTION ("2 VERTICAL CROSS SECTION ("3 VERTICAL CROSS SECTION " Spacing for idelfe screws % 3
\y Outswing shown - inswing also approved w Inswing shown - Cutswing also approved \y Outswing shown - inswing also approved 4" from each end (2 total). e o B
> ol W
2 b=
(@] 24
& &
£l 15
1/4" MAX. 3
SHIM SPACE ) 1/4'"MAX.  #10X2-1/2" PFH IS
#10 X 2-1/2" PFH WOOD SCREW SHIMSPACE  WOOD SCREW 2|0
075" —=—=| 075 [t 075 JAMB: PINE DRYWALL JAMB: "Fusionframe” DRYWALL =
1 | S \ / (1 OR 2-PIECE) / Sl@| |
e LNI_E.R_'QE \ S Fo|® %
COMPOSITE — ' — — N
[&]
N SNAP-ON #8 X 2-1/2" FH COURSE \ #8 X 2-1/2" FH COURSE s
CAP THREAD DRYWALL SCREW b THREAD DRYWALL SCREW ol
_ N (SEE NOTE 1) (SEENOTE 1) g
il 1 N\ ik
~r O \ \ 3 Ll
5 \\ 2X FRAMING 2X FRAMING 2 =
/ (- LVL {G>=042) (G >=0.42) N |o
O = |
8 rr - 2
‘ T T s - OATE: 12,/04,/17
_,_,l 1.25" l_.‘_“’_ 125" | | 125 = SCALE:  N.T.S.
| SIDELITE PANEL SIDELITE PANEL owe. B:  JK
JAMB / HEAD JAMB / HEAD JAMB EXT. SHEATHING EXTERIOR EXT. SHEATHING o o LFS
PINE "FusionFrame™ "FusionfFrame” DRAWING NO.:
e pch /~4 "\ HORIZONTAL CROSS SECTION /5 "\ HORIZONTAL CROSS SECTION o s

\y Outswing shown - Inswing also approved

\y Outswing shown - Inswing also approved

SHEET 5 oF 7

©zo18 R.W. BUN.DING DONSULTANTS ING.



Ri\Clients\Endura PERMANENT\B - Texas Dept of ins\TD! - DR-955 Opaque Therma-Tru FG door OXO (LK, DB) (4755-4756)\C - Drawings\TX-4755.56.dwg, 6.3

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

N\ A2
ENDURA ENDURA ENDURA WEATHERSTRIP «‘:3":\’:? g 16’
DOOR DOOR SWEEP DOOR\ DOOR SWEEP §‘% 0
PANEL (DBK-R) PANEL (DBK-ZAC) Sax 12
5.4 O i;m
0000@ 2ot dpioid
00000 7 59
f ‘j‘ H b
? g}c. . b e
c)) e E O:
Qi 10
?3 (‘S\ ...... H H
M@E& EXTERIOR INTERIOR EXTERIOR Mraeded™
\ ! NOTE:
#10 X 2.5" PFH WOOD SCREW OR * Spacing for sidelite screws:

#10 X 2.5" PFH WOOD SCREW OR
174" X 2-3/4" ELCO OR fTW CONCRETE SCREW

/ 1)\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 2\ VERTICAL CROSS SECTION

1/4" X 2-3/4" ELCO OR {TW CONCRETE SCREW
7”3\ VERTICAL CROSS SECTION

4" from each end {2 total).

w Inswing Adjustable Threshold

SIDELITE
PANEL

#8 X 2.5" COURSE THREAD
DRYWALL SCREW
(SEE NOTE 1}

INTERIOR

»

"
A

>
<
¥
=
e
<
o
Z
-,
z

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

7“4\ VERTICAL CROSS SECTION

\6/ Inswing Arficulating Threshold

W Outswing Bump Threshoid
SIDELTE 7

PANEL \ m@@

7 ,

1~
N

DRYWALL SCREW
(SEE NOTE 1)

Z

EXTERIOR

#10 X 3" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"5 "\ VERTICAL CROSS SECTION

w Inswing configuration w Outswing configuration
) : L— e ; =
| g |1 2 [ 3
- - ) -
b 456" | [ 456" | | 456 | } 456" |
1 )}INSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3"} INSWING ADJUSTABLE THRESHOLD 4 ) INSWING ADJUSTABLE THRESHOLD 5 }INSWING ADJUSTABLE THRESHOLD
ZAIL4565 2 ZAI4565FN ZAILAA4565 ZAIAA4565FN ZAI4565RDS
‘ | | MAX. DESIGN PRESSURE = +55/-60 PSF |
H 456" -] b 456" | [ 456" | 456" ! 456" !
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD g )INSWING ARTICULATING THRESHOLD "™ INSWING ARTICULATING THRESHOLD 10 ) INSWING ARTICULATING THRESHOLD
6 IACL4565 7 ZACA565FN IACLAAA4565 IACAA4565FN ZAC4565RDS

| MAX. DESIGN PRESSURE = +55/-60 PSF |

1 OUTSWING THRESHOLD
10BL4565

_ ] 56" |
$ ! 456" ! 13 )} QUISWING THRESHOLD
12} OUTSWING THRESHOLD LOB4565RDS
ZOBA4565FN | MAX. DESIGN PRESSURE = +55/-60 PSF |

P.O. Box 230 Vairico FL. 33595
Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F-11852

o

S 2

S

s o %5

e ul. S

2 X En

S AT &,

g Ol Y4
ol

e} K72 [}

o] &

. © ©
5 4
3 o
e &
o <C
0. o

7o I Poe

] A fi5)

UPDATE TO 2018 IBC/IRC CODE

11/19/191ADD “FusionFrame” OPTION &

1

REVISIONS

g
<
a
o
z
7

DATE: 12/04/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4755

SHEET 6 ofF 7

© 2016 R.W. BUILDING CONSULTANTS INC.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-955 Opaque Therma-Tru FG door OXO (LK, DB) (4755-4756)\C - Drawings\TX-4755.56.dwg, 7.3

5 HEAD ANCHORS: 2X FRAMING HEAD ANCHORS: u,
% =z #10 X 2-1/2" WOOD SCREW (PINE JAMB) (BY OTHERS, TYP.) #10 X 2-1/2" WOOD SCREW (PINE JAMB) & o
¥ #10 X 3" WOOD SCREW (1-PIECE JAMB) #10 X 3" WOOD SCREW (1-PIECE JAMB) 53 2o
§ o 5 (TP o T <ﬁ‘ . 2 (TYP.) - A\ (TYP) o (TYP.) — u.c(.;:t S 5’) g:
{ $ : § f3: 5
T SEE HINGE [r1 1 | Mr 11 e EF ExB o
DETAL 1 — - ——r 4 TT goo i
T Hg/ ? & c%) 5 00 gé
_ - _ - [+ o
- wE | oE 1 10,5
2 3 g6 o
® 5Qc % u
N | a man 3 8
2] o
;N N & \ B £ § 9k
S NE FRAME NE E X B8
E3 o= I (TYP) : :
TSN X X o) O X O °
J == t
d o Z:‘ — b ~and b i
oe |||/ S SEESTRKE i
& i PLATE DETAIL w3 o
= SEE DETAIL 1 SEE DETAIL 1 C%
Y P JAMB ANCHORS: ) - =
F3 FRAME N #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) & 5 S
(TYP.) i —_ #10 X 3" WOOD SCREW (1-PIECE JAMB) - - S 8 <
i || \\ll\g,xglt L 1] 1’/\‘1[1 |3
% C — —=— 4'(TYP) ~—~l = 4" (TYP) o A
2 (1YP SILL ANCHORS: 4,, TP, SILL ANCHORS: 5 x b
HINGE JAMB (P} —— #10 X 2-1/2" PFH WOOD SCREW (TP #10 X 2-1/2" PFH WOOD SCREW § =
1/4" X 2-3/4"ELCO OR 1/4" X 2-3/4"ELCO OR x <
FLOOR SUBSTRATE MATERIAL  FRAME ANCHORING — r; concrere screw FRAME ANCHORING W CONCRETESCRew ~ STRIKE JAMB L
CONCRETE {MIN. 3000 PSt) OXO 2 15
WOOD (G >=0.42) 35
8
PRES
* NOTE: These additional anchors required for D.P. > 70 PSF only. z|o
| \ =R
JAMB NOTES: , #8X 2-1/2 PFH WS Si2| |o
THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. // s ol 1S
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. o L] @ < £ 'é )
] 18- b >
INTEGRAL MULLION NOTES: #8 X 1" PFH WS éf. B " Elo| [&
1 : 1 it O 1t ~e "lo == #8 X 3/4 PFH WS Q0 ~ o
THE FATBOY PINE MULLION, “FusionFrame" MULLION, OR THE "Fusionframe" BACK-TO-BACK Ll o MR
JAMB (1-PIECE OR 2-PIECE) MAY ALL BE USED AS THE INTEGRAL MULLION. W — 4" X 4"HINGE I g
CONCRETE ANCHOR NOTES: \ 2|5
1. Concrete anchor locations at the comers may be adjusted fo maintain the min. <
edge distance to mortar joints. HINGE DETAIL 1 g
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to #8 X 2-1/2° COURSE =) t—:
maintain the min. edge distance to mortar joints, additional concrete anchors %HREAD \3\ ~ S
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. _1/9" =
3. Concrete anchor table: DRYWALL SCREW - DEADBOLT SECURITY P #8 X 2-1/2" PFH WS - %
STRIKE PLATE T o |
Y/ #10X 3" PFH WS ~=] 4 i bATE: 12,/04,/17
.§ #8 X 1" PFH WS :. 1, ofe> #8 X 3/4" PFH WS scalte:  N.T.S.
" KS #8 X 2-1/2" PFH WS ——] | "X 4" HINGE owe. B JK
® ]/ " 1_3/ n LATCH STRIKE AN CHK. BY: LFS
TAPCON - PLATE \ DRAWING NO.:
DETAIL 1 -
ELCO " " — -
ULTRACON®| 1/4° 1-3/4" 1 4 Integral mullion attachment STRIKE PLATE DETAIL HINGE DETAIL 2 TX7 47557
SHEET _/ OF _7_

© 20716 R.W. BUILDING DONSULTANTS INC.



